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6HLULQJ� EHUMDODQQ\D� ZDNWX�� VHPDNLQ� EDQ\DN� SURGXVHQ� MLOEDE� GL� ,QGRQHVLD�

3HUXVDKDDQ�SHUXVDKDDQ� PHQJDODPL� SHUVDLQJDQ� \DQJ VDQJDWODK� NHWDW� GLDQWDUD�

PHUHND�\DQJ�PHPSURGXNVL�SURGXN�VHMHQLV��3HUXEDKDQ�SHUXEDKDQ�\DQJ�FHSDW�GDODP�

ELVQLV� PHQXQWXW� PHUHND� KDUXV� PHQJHPEDQJNDQ� VWUDWHJL� GDODP� SHUXVDKDDQ� DJDU�

OHELK� PDPSX� EHUDGDSWDVL�� PHPSXQ\DL� NHWDKDQDQ� GDODP� EHUVDLQJ�� PDPSX�

PHODNXNDQ� SHUXEDKDQ� DUDK� GHQJDQ� FHSDW� GDQ� PHPXVDWNDQ� SHUKDWLDQ� SDGD�

NRQVXPHQ� 3HQHQWXDQ�VWUDWHJL�\DQJ�WHSDW�GDSDW�GLODNXNDQ�GHQJDQ�FDUD�PHODNXNDQ�

SHQLODLDQ�NLQHUMD��6HODPD�LQL�&9��;<=�EHOXP�PHPLOLNL�VLVWHP�SHQLODLDQ�NLQHUMD��

2OHK�NDUHQD�LWX��SHUOX�GLODNXNDQ�SHUDQFDQJDQ�VLVWHP�SHQLODLDQ�NLQHUMD��'DUL�NRQGLVL�

&9�� ;<=�� PHWRGH� \DQJ� WHSDW� GLJXQDNDQ� DGDODK� SHUIRUPDQFH� SULVP GLEDQGLQJ�

PRGHO�ODLQ��3HQLODLDQ�NLQHUMD�GDODP�SHQHOLWLDQ�LQL�DNDQ�GLODNXNDQ�VHFDUD�EHUWDKDS�

GHQJDQ�PHQJJXQDNDQ�EHEHUDSD�PHWRGH�DQWDUD�ODLQ�SHPERERWDQ�GHQJDQ�$QDO\WLFDO�

+LHUDFK\�3URFHVV��$+3��XQWXN�PHQJHWDKXL�VNDOD�QLODL SULRULWDV�VHWLDS�.3,��+DVLO�

UDQFDQJDQ�PHQXQMXNNDQ� EDKZD� DGD� �� VWDNHKROGHU� GL�&9��;<=� \DLWX� �PHOLSXWL��

3HPLOLN�� .DU\DZDQ�� 6XSSOLHU�� &XVWRPHU�� GDQ� 0DV\DUDNDW�� +DVLO� SHUDQFDQJDQ�

SHQLODLDQ�NLQHUMD� SDGD�&9��;<=�GHQJDQ�3HUIRUPDQFH�3ULVP GLSHUROHK� � ���.3,�

NHVHOXUXKDQ�����.3,�SHPLOLN�����.3,�NDU\DZDQ�����.3,�VXSSOLHU�����.3,�FXVWRPHU��

GDQ� ��� .3,� PDV\DUDNDW�� +DVLO� SHQJXNXUDQ� LQL� PHQMDGL� ODQGDVDQ� EDJL� SLKDN�

PDQDMHPHQ�XQWXN�PHQJHYDOXDVL�GDQ�PHQHQWXNDQ�UHQFDQD�NHUMD�SHUEDLNDQ�VHKLQJJD�

KDUDSDQ�GDUL�VHPXD�VWDNHKROGHU GDSDW�WHUSHQXKL�

.DWD�.XQFL���3HQLODLDQ�.LQHUMD��3HUIRUPDQFH�3ULVP��$+3�


